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5. A5t 3] 4,000 4,000 0
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2. 3% -] 7,000 9,000 2,000 SAOIETON AT 1 2,400,000€x13n ~2,400,000
Ol AJo] EE et | I Slx1 1
o FolEFo] <214 2,000,000¢1 *13L 2,000,000
QIA}O] EXFo] ZRAIH] & - 120,000 13 = -120,000
OlXJolEE0] QXA )E : - <
AAL | EfFo] 43H(AF) 800,000¢1 ~800,000
1l =
SAEE 9 ¢ A*10F+103
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- 1,200,0009 =
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2. WAL 12,780 12,780 0
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2. g 800 800 0
2.3 &9 300 300 0
1. 30590 300 300 0
3. 50 WH(HH) 1,870 1,870 0
1.+9% 1,870 1,870 0
2.8t E ] o n} 1,500 1,500 0
LtuZdaadsEAgd 600 600 0
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1.3 4 5,300 5,300 0
1A 7§30 5,300 5,300 0
2. 0EEAED 1,400 1,400 0
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FALRTG ¢ (8,684 1. 5084 7120 1,269,000
) - 3,354,0009 =
MA@ 20206 092 152 164 068 023% 18 ARRE WS ke mSew
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2. 4WgH| 4,200 4,200 0

3.5 A b AN A R 1,763 2,102 -339 ﬁi%&%ﬂ 2175,120%*12% - 339,000
3.8 meo ¥ 4,220 4,220 0
1.3t a2 91 3] -3 1,600 1,600 0
1.3 23 91 3% 1,600 1,600 0
1.99H] 400 400 0
2. 4] 53] 1,200 1,200 0
2.3 gy 2,620 2,620 0
1. 85232 2,000 2,000 0
1. 9Rk=-8-H] 1,500 1,500 0
2. W] 53] 500 500 0
2.8} H R LS 620 620 0
.95 420 420 0
2.o9H] 200 200 0
7.3 A F2E 1,000 1,000 0
1. en)n] 1,000 1,000 0
1. cju]H] 1,000 1,000 0
1. en)n] 1,000 1,000 0
1. cjlu]H] 1,000 1,000 0
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